Bipartitions found in one or more
trees and frequency of

occurrence (bootstrap support
values):
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Homework #1

Draw an unrooted tree topology using the
splits defined to the left. Use the taxon
letters (A, B, ..., L) in the split table as the
leaf node names on your drawing.

Start with the topmost split and work down
the list until you reach a point where you
find that you cannot add the next split
(because it conflicts with splits already
added).

Turn in the tree, with branches (not nodes)
labeled with the correct split frequency from
the table.

Hint: polytomies (nodes with degree > 3)
are possible, and every internal branch in
your tree should be labeled with a split
frequency.



